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Die  E r f i n d u n g   b e t r i f f t   e i n e   V o r r i c h t u n g   zum  V e r s c h i e b e n  

e i n e r   S t e i g s c h u t z e i n r i c h t u n g   von  e i n e m   e r s t e n   S t e i g w e g  

zu  e inem  z w e i t e n   S t e i g w e g ,   w o b e i   d i e   S t e i g s c h u t z e i n r i c h -  

t u n g   e i n e n   S c h i e b e r   a u f w e i s t ,   d e r   e n t l a n g   e i n e r   L ä n g s f ü h -  

r u n g   g l e i t e t   und  e i n e   l ö s b a r e   A r r e t i e r u n g   g e g e n   e i n e   A b -  

w ä r t s b e w e g u n g   a u f w e i s t .  

An  L e i t e r n   zum  B e s t e i g e n   h o h e r   B a u w e r k e ,   z.  B.  S e n d e -  

m a s t e n   o d e r   S c h o r n s t e i n e ,   s i n d   S t e i g s c h u t z e i n r i c h t u n g e n  

v o r g e s e h e n ,   d i e   d i e   das   B a u w e r k   b e s t e i g e n d e   P e r s o n   g e g e n  
A b s t u r z   s i c h e r t   (DE-PS  1  961  7 5 7 ) .   I n s b e s o n d e r e   be i   S e n -  

d e m a s t e n   i s t   es  h ä u f i g   n o t w e n d i g ,   den  S t e i g w e g   zu  v e r s e t -  

zen ,   um  z w i s c h e n   den  v o r h a n d e n e n   R i c h t s t r a h l e r n   h i n d u r c h  

nach   oben  s t e i g e n   zu  k ö n n e n .   Um  a u c h   w ä h r e n d   des   U m s t e i -  

g e n s   von  dem  e r s t e n   S t e i g w e g   au f   den  z w e i t e n   S t e i g w e g   e i -  

ne  l ü c k e n l o s e   A b s t u r z s i c h e r u n g   zu  h a b e n ,   w u r d e   d e r   S c h i e -  

b e r . b i s h e r   m i t t e l s   e i n e r   d r e h t e l l e r - ä h n l i c h e n   E i n r i c h t u n g  

von  dem  Ende  des   e r s t e n   S t e i g w e g s   in  e i n e   w a a g r e c h t e   F ü h -  

r u n g   ü b e r g e l e i t e t   und  an  d e r e n   Ende  w i e d e r   m i t t e l s   e i n e r  

d r e h t e l l e r - ä h n l i c h e n   E i n r i c h t u n g   in  d i e   L ä n g s f ü h r u n g   d e s  

z w e i t e n   S t e i g w e g e s   e i n g e f ü h r t .   N a c h t e i l i g   i s t   h i e r b e i ,  

d a s s   d i e   d r e h t e l l e r - ä h n l i c h e n   E i n r i c h t u n g e n   im  A u f b a u   k o m -  

p l i z i e r t   s i n d .   D i e s e   A r t   d e r   V e r s e t z u n g   i s t   a u s s e r d e m   n u r  

b e i   S e n d e m a s t e n   m i t   r e l a t i v   g r o s s e m   D u r c h m e s s e r   m ö g l i c h ,  

da  de r   S c h i e b e r   n i c h t   au f   Q u e r f ü h r u n g e n   m i t   s t a r k e r   K r ü m -  

mung  g l e i t e n   k a n n .  



Der  E r f i n d u n g   l i e g t   d i e   A u f g a b e   z u g r u n d e ,   e i n e   V o r r i c h -  

t u n g   zum  s e i t l i c h e n   V e r s c h i e b e n   e i n e r   S t e i g s c h u t z e i n -  

r i c h t u n g   von  e i n e m   e r s t e n   S t e i g w e g   zu  e i n e m   z w e i t e n   S t e i g -  

weg  zu  s c h a f f e n ,   d i e   im  A u f b a u   e i n f a c h   i s t   und  z.  B.  b e i  

S e n d e m a s t e n   von  g e r i n g e m   D u r c h m e s s e r   a n w e n d b a r   i s t .  

D i e s e   A u f g a b e   w i r d   d a d u r c h   g e l ö s t ,   d a s s   e i n   k u r z e s   T e i l -  

s t ü c k   d e r   L ä n g s f ü h r u n g   a u f   e i n e r   Q u e r f ü h r u n g   z w i s c h e n  

dem  e r s t e n   S t e i g w e g   und  dem  z w e i t e n   S t e i g w e g   p a r a l l e l  

v e r s c h i e b b a r   i s t .  

Die  Q u e r f ü h r u n g   w e i s t   v o r z u g s w e i s e   zwei   im  A b s t a n d   a n g e -  
o r d n e t e   S c h i e n e n   a u f ,   a u f   d e n e n   das   T e i l s t ü c k   d e r   L ä n g s -  

f ü h r u n g   m i t   R o l l e n   g e f ü h r t   i s t .  

E i n e   e i n f a c h e r e   A u s f ü h r u n g s f o r m   d e r   Q u e r f ü h r u n g   b e s t e h t  

in  e i n e r   p r o f i l i e r t e n   S c h i e n e ,   d i e   vom  e r s t e n   S t e i g w e g  

um  den   M a s t e n   bzw.   den  S c h o r n s t e i n   he rum  zum  z w e i t e n  

S t e i g w e g   f ü h r t   und  a u f   dem  d e r   S c h l i t t e n   m i t t e l s   e i n e s  

G l e i t l a g e r s   g l e i t e t .  

Die  S t e i g w e g e   k ö n n e n   d u r c h   e i n e   M i t t e l h o l m l e i t e r   g e m ä s s  

d e r   DE-PS  1  961  757  o d e r   d u r c h   e i n e   n o r m a l e   D o p p e l h o l m -  

l e i t e r   m i t   e i n e r   z u s ä t z l i c h e n   F ü h r u n g s s c h i e n e   f ü r   d e n  

S c h i e b e r   g e b i l d e t   w e r d e n .  

Um  e i n   H e r a u s f a l l e n   d e s   S c h i e b e r s   aus   dem  T e i l s t ü c k   d e r  

L ä n g s f ü h r u n g   zu  v e r h i n d e r n ,   i s t   d i e s e s   v o r z u g s w e i s e   am 

o b e r e n   und  u n t e r e n   Ende  m i t   e i n e r   S i c h e r u n g   v e r s e h e n .  

Die  Q u e r f ü h r u n g   k a n n   an  e i n e r   e b e n e n   Wand  g e r a d e   o d e r   um 

e i n e n   S e n d e m a s t e n ,   e i n e n   S c h o r n s t e i n   o d e r   e i n   ä h n l i c h e s  

B a u w e r k   a u f   e i n e m   g e k r ü m m t e n   Weg  herum  f ü h r e n .   Der  K r ü m -  

m u n g s r a d i u s   k a n n   d a b e i   p r a k t i s c h   b e l i e b i g   k l e i n   s e i n   u n d  

z.  B.  n u r   20  cm  b e t r a g e n .   Die  V o r r i c h t u n g   k a n n   d a b e i   d e n  

S c h i e b e r   um  e i n e n   b e l i e b i g e n   W i n k e l   um  den  S e n d e m a s t ,  



S c h o r n s t e i n   o d e r   d e r g l e i c h e n   he rum  f ü h r e n ,  z .   B.  um  9 0 0 ,  

1800  o d e r   3 6 0 0 .  

Ein  A u s f ü h r u n g s b e i s p i e l   d e r   E r f i n d u n g   w i r d   n a c h f o l g e n d  

a n h a n d   d e r   Z e i c h n u n g   n ä h e r   e r l ä u t e r t .   Es  z e i g e n :  

F i g .   1  in  e i n e r   p e r s p e k t i v i s c h e n   D a r s t e l l u n g   d i e   V o r r i c h -  

t u n g   zum  V e r s c h i e b e n   e i n e r   S t e i g s c h u t z e i n r i c h t u n g  

in  i h r e r   P o s i t i o n   a l s   T e i l   e i n e s   S t e i g w e g e s ;  

F i g .   2  d i e   V o r r i c h t u n g   zum  V e r s c h i e b e n   e i n e r   S t e i g s c h u t z -  

e i n r i c h t u n g   in  e i n e r   S t e l l u n g   a u s s e r h a l b   e i n e s  

S t e i g w e g e s ;  

F i g .   3  d i e   V o r r i c h t u n g   zum  V e r s c h i e b e n   e i n e r   S t e i g s c h u t z -  

e i n r i c h t u n g   im  V e r t i k a l s c h n i t t   u n d  

F i g .   4  den  S c h l i t t e n   aus   F i g .   1  in  V e r g r ö ß e r u n g .  

Wie  d i e   F i g u r e n   1  und  2  z e i g e n ,   s i n d   an  e i n e m   B e t o n m a s t  

10  e i n   e r s t e r   S t e i g w e g   4  und  e i n   z w e i t e r   S t e i g w e g   5  i n  

Form  von  L e i t e r n   m i t   e i n e m   M i t t e l h o l m   11  und  L e i t e r s p r o s -  

sen  12  b e f e s t i g t ,   wie  s i e   aus   d e r   DE-PS  1  961  757  b e k a n n t  

s i n d .   Der  e r s t e   S t e i g w e g   4  f ü h r t   vom  E r d b o d e n   b i s   zu  d e r  

in  den  F i g u r e n   1  und  2  g e z e i g t e n   S t e l l e ,   w ä h r e n d   d e r  

z w e i t e   S t e i g w e g   5  von  d e r   in  den  F i g u r e n   1  und  2  g e z e i g -  

t en   S t e l l e   nach   oben   w e i t e r f ü h r t .   B e i d e   S t e i g w e g e   ü b e r -  

l a p p e n   d a b e i   e t w a   um  2  m.  Die  V o r r i c h t u n g   zum  V e r s c h i e b e n  

d e r   S t e i g s c h u t z e i n r i c h t u n g   w e i s t   zwei   g e k r ü m m t e ,   v e r t i k a l  

ü b e r e i n a n d e r   a n g e o r d n e t e   und  m i t   S t e g e n   v e r b u n d e n e   R u n d -  

e i s e n   6  a u f ,   d i e   a l s   S c h i e n e n   z u r   F ü h r u n g   e i n e s   S c h l i t t e n s  

13  d i e n e n .   Die  R u n d e i s e n   6  s i n d   k o n z e n t r i s c h   um  den  B e -  

t o n m a s t   10  a n g e o r d n e t   und  s i n d   d u r c h   R o h r s c h e l l e n   14  a n  

d i e s e m   b e f e s t i g t .   Die  R u n d e i s e n   6  s i n d   d u r c h   v e r s t e l l b a r e  

A b s t a n d s c h r a u b e n   15  in  i h r e m   A b s t a n d   von  dem  B e t o n m a s t  

e i n j u s t i e r b a r .  



Die   b e i d e n   R u n d e i s e n   6  f ü h r e n   e i n e n   S c h l i t t e n   13  ( F i g .   4 )  

vom  Ende  des   e r s t e n   S t e i g w e g e s   4  zu  e i n e r   L ü c k e   d e s  

z w e i t e n   S t e i g w e g s   5,  d e r   in  dem  v o r l i e g e n d e m   A u s f ü h r u n g s -  

b e i s p i e l   um  1800  v e r s e t z t   an  dem  B e t o n m a s t   a n g e o r d n e t  

i s t .   Der  S c h l i t t e n   13  ( F i g .   3)  w i r d   d u r c h   i n s g e s a m t   8 

R o l l e n   16  au f   den  b e i d e n   R u n d e i s e n   6  g e f ü h r t .   Der  S c h l i t -  

t e n   13  i s t   e i n   U - P r o f i l e i s e n   a u s r e i c h e n d e r   L ä n g e ,   so  d a s s  

von  den   b e i d e n   S c h e n k e l n   des   U - P r o f i l e i s e n s   i n s g e s a m t  

a c h t   R o l l e n   16  n a c h   i n n e n   a b s t e h e n d   a n g e o r d n e t   w e r d e n  

k ö n n e n ,   w o b e i   j e w e i l s   zwei   R o l l e n   16  z u s a m m e n   d i e   R u n d -  

e i s e n   6  u m k l a m m e r n .   Zur  s i c h e r e n   F ü h r u n g   w i r d   j e d e s   R u n d -  

e i s e n   6  von  zwe i   R o l l e n p a a r e n   u m k l a m m e r t ,   d i e   in  e i n e m  

A b s t a n d   von  e t w a   20  cm  a n g e o r d n e t   s i n d .   Der   S c h l i t t e n  

13  t r ä g t   e i n   k l e i n e s   T e i l s t ü c k   1  des   M i t t e l h o l m s   de r   L e i -  

t e r ,   und  d e r   A b s t a n d   d e r   R u n d e i s e n   6  vom  B e t o n m a s t   10  i s t  

so  e i n g e s t e l l t ,   d a s s   das   T e i l s t ü c k   1  m i t t e l s   des   S c h l i t -  

t e n s   13  in  e x a k t e   F l u c h t u n g   m i t   den  M i t t e l h o l m e n   11  d e s  

e r s t e n   bzw.   z w e i t e n   S t e i g w e g e s   4,  5  g e b r a c h t   w e r d e n   k a n n .  

Wie  in  d e r   DE-PS  1  961  757  n ä h e r   b e s c h r i e b e n   i s t ,   d i e n t  

d e r   M i t t e l h o l m   1 1  z u g l e i c h   a l s   L ä n g s f ü h r u n g   f ü r   e i n e n  

S c h i e b e r   8  e i n e r   S t e i g s c h u t z e i n r i c h t u n g .   Die  d i e   L e i t e r  

h o c h s t e i g e n d e   P e r s o n   i s t   m i t t e l s   e i n e s  S i c h e r h e i t s g ü r t e l s  

an  d i e s e m   S c h i e b e r   8  g e s i c h e r t .   Der  S c h i e b e r   8  w e i s t   a l s  

A r r e t i e r u n g   e i n e   S p e r r k l i n k e   a u f ,   d i e   d u r c h   F e d e r w i r k u n g  
in   i h r e r   S p e r r s t e l l u n g   g e h a l t e n  w i r d ,   in  d e r   d i e   K l i n k e n -  

n a s e   in  das   I n n e r e   des   U - P r o f i l s   d e r   L ä n g s f ü h r u n g   r a g t  
und  g e g e n   d o r t   b e f i n d l i c h e   A n s c h l a g f l ä c h e n   a n l i e g t .   A l s  

A n s c h l a g f l ä c h e n   d i e n e n   d a b e i   d i e   O b e r s e i t e n   d e r   L e i t e r -  

s p r o s s e n   12,   d i e  d u r c h   p a a r w e i s e   f l u c h t e n d e   Ö f f n u n g e n  

v e r l a u f e n ,   d i e  d u r c h   d i e   p a r a l l e l e n   S e i t e n w ä n d e   d e s  

U - P r o f i l s   des   M i t t e l h o l m s   11  a n g e o r d n e t   s i n d .   Z u s ä t z l i c h  

zu  den   L e i t e r s p r o s s e n   12  k ö n n e n   w e i t e r e   A n s c h l a g f l ä c h e n  

v o r g e s e h e n   w e r d e n ,   i n d e m   r e c h t e c k i g e   H o h l p r o f i l s t ü c k e   17  

d u r c h   w e i t e r e   ö f f n u n g e n   i n  d e n   S e i t e n w ä n d e n   des   U - P r o f i l s  



des   M i t t e l h o l m s   11  e i n g e s e t z t   s i n d .   Das  T e i l s t ü c k   1  i s t  

f e s t   an  dem  S c h l i t t e n   13  a n g e s c h r a u b t   und  e n t h ä l t   i n  

s e i n e m   I n n e r e n   e i n e   A n s c h l a g f l ä c h e ,   d i e   d u r c h   e i n   s o l c h e s  

z u s ä t z l i c h e s   H o h l p r o f i l s t ü c k   17  g e b i l d e t   w i r d ,   so  d a s s  

d e r   S c h i e b e r   8  in  dem  T e i l s t ü c k   1  a r r e t i e r t   i s t .   Um  e i n  

u n b e a b s i c h t i g t e s   H e r a u s f a l l e n   des   S c h i e b e r s   8  aus   d e m  

T e i l s t ü c k   l  z u s ä t z l i c h   zu  v e r h i n d e r n ,   s i n d   am  o b e r e n  

und  u n t e r e n   Ende  des   T e i l s t ü c k s   1  A r r e t i e r u n g s b o l z e n   18  

v o r g e s e h e n ,   d i e   d u r c h   e i n e   F e d e r   r a d i a l   nach   a u s s e n ,   d .  

h.  zu  d e r   d e n . S t e i g w e g   e r k l i m m e n d e n   P e r s o n   g e d r ü c k t  

w e r d e n   und  von  Hand  z u r ü c k g e d r ü c k t   w e r d e n ,   wenn  d e r  

S c h l i t t e n   ü b e r   das   u n t e r e   o d e r   o b e r e   Ende  des   T e i l s t ü c k e s  

1  v e r s c h o b e n   w e r d e n   s o l l .  

In  e i n e m   A b s t a n d   von  e twa   1 , 5   m  u n t e r h a l b   d e r   R u n d e i s e n  

6  und  in  e i n e m   A b s t a n d   von  e t w a   30  cm  d a r ü b e r   s i n d   n o c h  

e i n   u n t e r e r   S t e i g r i n g   19  und  e i n   o b e r e r   S t e i g r i n g   20  

d u r c h   R o h r s c h e l l e n   an  dem  B e t o n m a s t   10  b e f e s t i g t .   D e r  

u n t e r e   S t e i g r i n g   19  w i r d   be im  U m s t e i g e n   b e t r e t e n   und  d e r  

o b e r e   S t e i g r i n g   20  d i e n t   d a b e i   zum  F e s t h a l t e n .  

Die  B e n u t z u n g   d e r   V o r r i c h t u n g   zum  V e r s c h i e b e n   d e r   S t e i g -  

s c h u t z e i n r i c h t u n g   e r f o l g t   be im  A u f w ä r t s k l e t t e r n   in  d e r  

W e i s e ,   d a s s   d i e   P e r s o n ,   wenn  s i e   am  o b e r e n   Ende  d e s  

e r s t e n   S t e i g w e g e s   4  a n k o m m t ,   den  S c h l i t t e n   13  in  d i e   i n  

F i g .   1  und  2  l i n k e   P o s i t i o n   b r i n g t ,   in  d e r   das   T e i l s t ü c k  

1  g e n a u   an  das   o b e r e   Ende  d e s   M i t t e l h o l m s   11  des   e r s t e n  

S t e i g w e g e s   4  a n s c h l i e s s t .   Die  P e r s o n   v e r s c h i e b t   d a n n  

den  S c h i e b e r   8  d e r   S t e i g s c h u t z v o r r i c h t u n g   von  dem  M i t t e l -  

holm  11  in  das   T e i l s t ü c k   1,  wozu  noch  d e r   A r r e t i e r u n g s -  

b o l z e n   18  am  u n t e r e n   Ende  des   T e i l s t ü c k s   1  z u r ü c k g e d r ü c k t  
w i r d .   Die  S p e r r k l i n k e   des   S c h i e b e r s   l i e g t   d a b e i   g e g e n  
d i e   d u r c h   das   H o h l p r o f i l s t ü c k   17  des   T e i l s t ü c k s   1  g e b i l -  

d e t e   A n s c h l a g f l ä c h e   an,   so  d a s s   v o l l e   S i c h e r h e i t   g e g e b e n  
i s t .   Die  P e r s o n   v e r l ä s s t   dann   den  e r s t e n   S t e i g w e g   4  u n d  



t r i t t   a u f   den  u n t e r e n   S t e i g r i n g   19  und  h ä l t   s i c h   d a b e i  

g l e i c h z e i t i g   am  o b e r e n   S t e i g r i n g   20  f e s t   und  b e t r i t t   v o n  

d o r t   den   z w e i t e n   S t e i g w e g   2,  d e r   von  e t w a s   u n t e r h a l b   d e m  

u n t e r e n   S t e i g r i n g   19  nach   o b e n   f ü h r t .   B e i d e   S t e i g w e g e  

4,  5  ü b e r l a p p e n   s i c h   e t w a   um  2  m.  Der  S c h l i t t e n   13  w i r d  

b e i m   U m s t e i g e n   vom  e r s t e n   S t e i g w e g   4  au f   den  z w e i t e n  

S t e i g w e g   5  a u t o m a t i s c h   m i t g e z o g e n   und  r o l l t   a u f   den  b e i -  

den   p a r a l l e l   g e k r ü m m t e n   R u n d e i s e n   6  zu  dem  z w e i t e n   S t e i g -  

weg  h i n ü b e r ,   so  d a s s   d i e   P e r s o n   immer  m i t   dem  g l e i c h e n  

S c h i e b e r   8  g e s i c h e r t   vom  e i n e n   S t e i g w e g   4  zum  a n d e r e n  

S t e i g w e g   5  h i n ü b e r w e c h s e l n   k a n n .   Der  o b e r e   A r r e t i e r u n g s -  

b o l z e n   18  s o r g t   d a b e i   d a f ü r ,   d a s s   d e r   S c h i e b e r   8  u n t e r -  

wegs   a u c h   n i c h t   n a c h   o b e n   a u s   dem  T e i l s t ü c k   1  h e r a u s r u t -  

s c h e n   k a n n .  

Auf  dem  z w e i t e n ,   n a c h   o b e n   f ü h r e n d e n   S t e i g w e g   5  a n g e k o m -  

men,   s o r g t   e i n   A n s c h l a g   21  am  o b e r e n   Ende  des   T e i l s t ü c k e s  

1  d a f ü r , - d a s s   s i c h   d a s   T e i l s t ü c k   1  g e n a u   in  d i e   L ü c k e  

d i e s e s   S t e i g w e g s   5  e i n f ü g t .   Nach  E i n d r ü c k e n   des   o b e r e n  

A r r e t i e r u n g s b o l z e n s   18  kann   d i e   P e r s o n   nun  a u f   dem  z w e i -  

t e n   S t e i g w e g   5  w e i t e r   nach   o b e n   k l e t t e r n ,   w o b e i   d e r  

S c h i e b e r   8  m i t g e z o g e n   w i r d .  

Beim  H e r u n t e r k l e t t e r n   e r f o l g e n   d i e   e i n z e l n e n   M a s s n a h m e n  

in  u m g e k e h r t e r   R e i h e n f o l g e ,  w o b e i   n u n m e h r   e i n   w e i t e r e r  

A n s c h l a g   22,   d e r   am  o b e r e n   Ende  d e s   M i t t e l h o l m s   11  

d e s   e r s t e n   S t e i g w e g e s   4  v o r s p r i n g t ,   den  S c h l i t t e n  

13  a n h ä l t   und  j u s t i e r t ,   so  d a s s   d e r   S c h i e b e r   8  n a c h  

u n t e n   in  den  M i t t e l h o l m   11  d e s   u n t e r e n   S t e i g w e g e s   4 

g l e i t e n   k a n n .  



1.  V o r r i c h t u n g   zum  V e r s c h i e b e n   e i n e r   S t e i g s c h u t z e i n -  

r i c h t u n g   von  e i n e m   e r s t e n   S t e i g w e g   zu  e i n e m   z w e i t e n  

S t e i g w e g ,   w o b e i   d i e   S t e i g s c h u t z e i n r i c h t u n g   e i n e n  

S c h i e b e r   a u f w e i s t ,   d e r   e n t l a n g   e i n e r   L ä n g s f ü h r u n g  

g l e i t e t   und  e i n e   l ö s b a r e   A r r e t i e r u n g   g e g e n   e i n e   A b -  

w ä r t s b e w e g u n g   a u f w e i s t ,   d a d u r c h   g e k e n n z e i c h n e t ,  

d a s s   e i n   k u r z e s   T e i l s t ü c k   (1)  d e r   L ä n g s f ü h r u n g   ( 2 )  

au f   e i n e r   Q u e r f ü h r u n g   (3)  z w i s c h e n   dem  e r s t e n  

S t e i g w e g   (4)  und  dem  z w e i t e n   S t e i g w e g   (5)  p a r a l l e l  

v e r s c h i e b b a r   i s t .  

2.  V o r r i c h t u n g   nach   A n s p r u c h   1,  d a d u r c h   g e k e n n z e i c h n e t ,  

d a s s   d i e   Q u e r f ü h r u n g   zwe i   im  A b s t a n d   v o n e i n a n d e r  

a n g e o r d n e t e   S c h i e n e n   (6)  a u f w e i s t .  

3.  V o r r i c h t u n g   nach   A n s p r u c h   2,  d a d u r c h   g e k e n n z e i c h n e t ,  

d a s s   das   T e i l s t ü c k   (1)  m i t t e l s   R o l l e n   (7)  au f   d e n  

S c h i e n e n   (6)  g e f ü h r t   i s t .  

4.  V o r r i c h t u n g   nach   e i n e m   d e r   A n s p r ü c h e   1  b i s   3,  d a d u r c h  

g e k e n n z e i c h n e t ,  

d a s s   das   T e i l s t ü c k   (1)  an  s e i n e m   o b e r e n   und  u n t e r e n  

.Ende  e i n e   l ö s b a r e   S i c h e r u n g   g e g e n   e i n   H e r a u s f a l l e n  

des   S c h i e b e r s   (8)  a u f w e i s t .  
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